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1) He came to Dhaka with a view to __ a new place.
v 1) visiting
2) Visit
3) watch
4) look

2) 7370 WK ALY VY 3 STHLS U | G0 AT d XA, T FAM PO?

1)%
2) 53
3) 3¢

v 4)Sb

3) ARSATCCR (P IR \3TS @RS S5 (T P TR ?

v 1) 3=<d
2)’5{9@21?{
3) I

)%’H@%aﬂ

N
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- 300 AT HB3T AP WRARGE Tk,
- HSIT GO (AP 08 AP IR 13 FAGT AR AT TRFO 5K YA AT \3
WATITS SR 391 TRCSTE AP 2w fafew $h00 (oI |




5) Look before you leap. The word ‘before’ used in the sentence is:

Preposition
adverb
conjunction
noun

1
2
v 3
4

~— N N S

6) The synonym of the word ‘call’ is:

1) recollection
2) impede
3) exile

v 4) Summon

7) http 93 57 P @072
v 1) Hyper Text Transfer Protocol
2) High Test Termination Procwdure

3) Harvard Teletext Proof
4) Highest Times Technical Professional

8) The synonym of the word ‘scream’ is:
v 1) Yell
2) sound
3) cry
4) loudly

9) 0, 2, 3 I ASNS TG?



AT T >R Y IS fHS 5 ST AT ST 5 TR 5 WG 3 BGH 9 | W <A 27
3 B Ty oo I3 20 | O A’ ==t Sy o

11) SIART @RI AT I T |

1) The wises do not talk much

2) The wise does not talk much

3) The wise men does not talk much.
v 4) The wise do not talk much

13) | have no money __ hand.

1) by
2) at
v 3)in
4) on

14) He and | ___ well.

1
v 2
3
4

) Am

) are

) is

) been

15) SRITA (OIRA BIGTO W @I M3 IRI?



- SR AT BB TIL 1w Gniers 1 “o1Frre &-d |

- RTE FoT0 (1d PG T, (57571 AT Q3R ARFR IR PO IR AT |
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T . oy IR YR [iesTd |

16) DT >ofb \3 Trem >¢fb 7 s¥a1a 512 Ui fety fved sace feip Brem o o 7 Rierw ace
TGP TG G 1 Hfo AJ?

1) €% O TJ
2) 2¢% Fo I
3) V0% TG I

v 4) TS A F6 PR3z a1

17) STHIGR ARG @1 ST (AP 50?2

v 1 ﬂ\’g

)
) TR
)
)

N

3) 3@
R

N

18) fathd @At RATADHT IYNASIR Ik20 27 3?2

1) Y 1B, S99

2) REGTR dY, Y99
)
)

v 3) TR, 3D PR, YeR
4) *fISAT (M, GO TS

AT ;. AP WY PRSI @IRIER Gy IICPIR 5 A1 ey [ifsg R 1 7folbz dmo 2|
OFPH AP0 SR 52 A AT AT AMCORR () | NS AT IR Rioa fameas 5o v fo
R T HIGW BT o740 [ 3 JIGW 1) PN IO 3 | TR (57) BGI0r03 I KA
bz o =)
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GIGaTST, Y RPN, (Teid GITS 3051 |

20) It is health whichis __.

vl
2
3
4

wealth
Asset
precious
valuable

~— N N

21) facsx 1Al Fem s74m?

22)

3
3
1
e
%
B
E

25) If we practiced speaking English, we speak better.

1) could have
v 2) Could
3) can



4) would have

26) I SRR CHT ATTST XA~

27) 2 1 'Y IRRIFR QI 0517 MO WIS WIFO T | FOTHT 05 AAKPO R
CFaPe 9 357 (51 2

29) It takes two _ make a quarrel.

1) too
2) for
v 3) to
4) in order to

30) ARSI SEALANG @TAR TRFG?

31) wions, ity fd @iy |

1) Stand. | come now.
2) Keep standing, | am coming now.
3) Stand here, | am coming.



v 4) Wait, | am coming now.

32) > 3% =30 &1 fa?

1) e8I
2)8¢e Ty
3)8.cx I
v 4)e81

33) Did he see anyone in the room. (Assertive)

1) He saw someone in the room.
2) He saw anyone in the room.
3) He did not see someone in the room.
v 4) He saw no one in the room.
34) 5 1 Tl IRRIFTE 0517 I T 907?
1)2vs &t
v 2)5v2 i
3) VIO
4) 3v5 &fE

37) The antonym of the word ‘liberty’ is:

1) Liberal
v 2) bondage
3) frugal
4) diversity



38) U TR IRreR CFawel T I, AT BIR S S I Ol ¢o &1 3 i
vo (5 fa?

v 1)>003f
2) ¥>000 I57 Y T
3) Y0000 I57 1 iy
4) ¥>00 IF S

39) fb3 @A WO *7?
TR

1) ©
3
R

N

3

)
)
)
v 4)
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40) TTR x F3S Q051 y HIZe {Y OMOTH PACD PO IO ABI?

v 1) y/x T
2) x/y IO
3) xy T
4) x+y Tl

AN = X TIBS O R A 1 TBT .y " " " " y/ x TDT

41) RETCR T TR IETG DL ?

)

) B
3) Ao

)

43) (x/2) @*t1 =1 =, a Q3 TG ITO?

1)0
v?2)-1
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GG K]

5) ‘JRTE" GRS U7 B ATGFA @TIAR?

v 1) I0T
2) Praferaa
3) ferfeam

4) FAsform

46) sin6 = 4/5 X tanb =

AT = D7 AT AT T2 = FReam
"PReZR Q7 W (R (AP T 727 3471

[Be . Tyl 1T TRGYT, I1REAT QPG|



48) Read to learn. (Complex)

v
2
3
4

If you read, you will learn

By reading, you will learn

Read and learn

In case of failure to read, you will not learn.

~— N N S

49) 2059 S XIS @[ (Zd @2

1) oy foze
v 2) ICAN

3) ©. 359

)

4) TP 3141

50) FOCCH bR PR OGS 1 2 2 . 3 X, J8H @R AKHAE PO IJ?

v 1) 135°
2) 100°
3) 115°
4) 225°

51) P IR M 5 T Y 3 6 T 7Y T, 93 CFaT 997

1) 303

2) 2535 T
v 3) 15371
4) 20 3s( 1 fa

52) 10T 4 el (8T I@AT9 |

1) Itis as if a thunder from the clouds.
2) It is a strong thunder.

v 3) It is a bolt from the blue.
4) It is bolts from the blues.

53) 2058 HIEK RIPT9 POICE (5B I NG IR (2



54) 2a 2 + 6a - 80 IT QI TATD @A ?

1) 2(a-8)

2) (a+5)
v 3) (a+8)

4) (a-4)

55) by OF TFH S[{FH-258 I G 5 @A) ?

56) Something interesting facts about your past have just come to light. Here
come to light means-

1
2
v 3
4

Go near to light
to realize

to become known
to lit a light

~— N N S

7) 3OfAGPR 2058 FER ARSI TFIRN IEHRANE T 607 @52
AT

2) ARSI

v

w

1)
2)
) XT
) AT

N

58) He is the best player. (Negative)

1) No other player is as better as he.

2) No other player is as best as he.

3) No other player is considered as best as he.
v 4) No other player is as good as he

59) GO T 4R TG AP?




1) ©leTa™
2) @M
3) ik
v 4) (TR

AT 2 & SHCH AFSHFAT W@Wﬁ@ﬂm LI, IR ISR R dT, 91D ‘I?‘i\’)s NAN (A
| A« Y BT = (PTISC, ] ST = WITHIS] A 52 = 5113

61) 2PN 710 wfd 91 0o Teta 6 ac?

A = AR R AL AT | 2R FAR0 710 /id feTo 20 9T /iAo aomsko 20T S
A | T . TF + O = T, PT + 03 = PF|

62) PIETAICER 24T W] @110 ?



AT 2 DAL G DDAV I ITLTTRT TIOR3 X0 Y XA IR 5 *N1fdBIad
T (SCOT IR B JIRSATTOT I ST 2ATIS @14 IR | Y8 FIEK S GL6I, IR
SITOSRCTR 2T TN TG P | IRATET SOFCIR YOY TF S

65) 10 AT \3 TR SATHP KA FAE R T TG F0?

67)3.2"-4.2 "2 =397

1)1
/2)2n+1

3)3

4)2n

68) P V(5/9)% [ 37 ,0¢0 BRI PO IZH FJA-WBLE 5,30 BIRPT J?

1) b I2H
v 2) Y ITX
3) A %A
4) ¢ WA

69) The fruit is sweet the taste.

1
v 2
3
4

with

for

)
) B
)
) to
70) ABC fagrew BC 91 D RIS Mo 911 &1 LA = 60° 932 LB = 90° X1, LACD

=W7
1) 90°



2) 60°
3) 120°
4) 150°

1A : farerer v I 3G T @ IR @19 T o 21 O [RPo T8 @IEER St
s5a | LACD = 60° + 90° = 150°

71) The passive form of ‘Don’t do it’ is:

1
v 2
3
4

Let it not done
Let not it be done
Let it be done
Let it not be done

~— N N

72) He is so dishonest that he can not speak the truth. (Simple)

1
2
v 3
4

He is too dishonest that he cannot speak

He is too dishonest to be spoken the truth.

He is too dishonest to speak the truth

He is very dishonest and cannot speak the truth.

N— N N N

73) IR ATHIAGT FSRPH PIAD?

1) SRS

v 2) TN
3) GTIARSTI3
4) ARG

74) a¢ SR T FLATH 1¢%?



76) 7310 AT A5 A2 \3 TIPS IAFCH 61 \3 11 T, SN FD FG?

78) ‘BIMSTEC’ Q< MM (PIYR?

1)

) STfae
) fAo3Ts
)

DIPT

N

PAET

w

v

N

79) I NI (T4 T SRR TIN5?

v 1) TSR
) ARG
) 2SR
) XD

W N

4

80) Yo (AP b o U FYIKOI I3 \3 paod TP SR AT TG 357?

1) vq
v 2)90
3) a4
4) vo

81) FaBIoT 7 S% RCoa ---

AT = FASTOT O] SAE Revaw



82) G5T 1P SLTZ TRO 73 |

1) He has been ill since a week.
2) He has been ill till a week
v 3) He has been ill for a week.
)

4) He has been ill during a weak.

83) | (help) you if | could.

1) I would be helped
v 2) 1 would help
3)
4) | would have helped

84) CIRDAP 17 S (I ?
BRI

N —

v 2) TPl
BHIRS
PUTAATI R

W

)
)
)
)

85) ‘210 Y I571" A5 QY P12

1) QAT I

v )w—ﬂﬁw

3) GoTA
4)swm

86) fodfl TDT QP(A TGN 2K ORI IYRECH X T, O TOT\3 8 TOT KR IS0 WpCe | S e

ORI TOIH AP I ?

87) wo 0 #11f \3 i fardcom @igems a .o | b fordtd Wi o [0 b d farieet wig=ms o .a
<7
v 1) bo IR

2) qo o

3) vo 1o



88) 5T (PTd 72 5o 27?
1) d»ae
2) Yab4
v 3)dabe
4) 5330

AT ;o *<RAD B o,

T <19 7R 79 \3 F TG @RI 2, OICH S o751 367 | T8d— UToR, P1g, I, I,

REIRSIE

91) (1dIL ©% JEEd?

—

NI
BTN
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)

N

3

)
)
)
v 4)
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92) FRIFIT I RIS <17 ?



AT 1 ABf0 >R ROAING A6 T0E RPARIGTILF =7 1 R0 X1 I | SRS <TH-
QFCO W, T, AT, A, TR, 77, d, a1, [, a7 2 Sorsisiae $& Fe <o- @Y a1 - I3
1 ARG L BRI | O <R R0 <77 toReos U3 Sosisfare IRT0 X0 (2l
IR | (TH - WG — XA BFCO A - BT T T KA X1 267 - WA | ARK @ 51
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93) UBTT HLUWT \3 TR SATHP IO T V3, P FATK U9 \3 Td I SATP oA 5718
IO?

1) -2v3

2) 2V3
v 30

4) 3V3

94) Grasp all

v 1) lose all
2) Lost all
3) loses all
4) losing all

95) Please look above. Here ‘above’ is:

1
v 2
3
4

Adjective
adverb
noun
conjunction

N— N N N

96) log x5 =2, X = F9?




98) Death is to dishonor.

v 1) preferable
2) Prefer
3) preference
4) preferring

99) IR AP (PTA VX HLFCOA [N TR Fied a1?

100) STOMTR AT IO (S [ 277?
1) da3» A

2) YU I

v 3) Sb» AH
4) St} S
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